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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data

—o— dFVI
—0— dFVO0
an—a» oD oD o0

18

16

T
14

12

10

0. 04 -
0.02 -
0. 00 -
0. 02 -
0. 04 -

day

ECB*10%

fz_stock _ec
EGC

-3 -
—
——

Nz

ey S A——

16

T
14

12

10

day

PO a0¢

N
7%

v

PHB*10%

——
—@— PHC

18

16

14

12

10

day

alp——GED—Gib—— @b

—&— DUC

18

16

T
14

12

10

day

—&— FRV

18

16

14

12

10

day

—&— FRC

18

16

T
14

12

10

day

fw

18

16

14

12

10

5000 -

4000

3000 -

2000

1000

8

120
100
80 -
60 -
40 -

80 -
70 -
60 -
40 -
30 -
20 -

1. 00 ~
0. 95
0. 90
0. 85
0. 80
0.75 4
0.70
0. 65

12
10

day



['ETcl’, "optETcl’], 'LAl', ’optEtRate’]

['T", "Topt’], ['RH', 'RHopt'],

" lopt’ ],

Plot [['I",

| | \\
\\
/
[ .
n\\v
=
=
i
—
IAV L
L\
) L
T
N— ] — |
=

200

175

150

125

100

75

50

25

o o o o
T S T S S T S
Y 1Y N 1Y
- 2 — — o
Q Q [2) < £
) [9) — — ©
- - = = — W o
x o o ¥ +
— o i
) i i
o
i | | X I
\ o o o o
~ ~ ~ ~
-t 3 3 3 3 \
nw ‘&
\ 0 0 7o) ITe)
> o x x x
S f \W
pa \ S S & S \.\\ S
N, — — t\ - \.\.\‘. =2 _/V
ﬂ Te) 7o) o o
~ ~ ~ ~
{
C
A
o o J o / o M
o o Irs) / Irs) \M
w / =
-
D —
\Av W
y
e Te) & Te) Te) / Te) o
— : < [ : N :
||||||||| — S R S |||||‘U|- I S R ————— I S S NS A _——r S B S
nv
= == .memm
- Y b
— ——
ﬂ/y{ J <
—— o N o o 1 o V
o © © < N o © o o o o o o o o o o o o o o o o o N o © © <
® N ~ N N N - o ~ © o < S S S S ~ Irs) Y S ~ frs) Y . . . .
< 2 2 © s o o - - e e e

200

175

150

125

100

75

50

25



Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forEQ4AE_E2
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EQ4AE

AyiE) | EBIAT (FD) | EBE (EH/4) | BEBRERE (B/R) [XKS ERR
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RyiE) | EBIATK (FD) | ERE (EA/4) | EBREE (B/R) [XKS EFRF
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EQ4AE_E2, Day=18 (2025-06-10)
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EQ4AE
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EQ4AE

BYIE) | BRI (F)) | s (EA/ER) | BREE (B/R) | X8 SRR

06:30 110 60.0 0.105 BE| {Ri%e06:30 Fz (REAEHE)
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17:10 110 60. 0 0.105 B 1Rige17:10 Fz1 GREEESE)
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BYIE) | BRI (F)) | s (EA/ER) | BREE (B/R) | X8 SRR

06:15 75 40.0 0.07 BE| {Ri&e06:15 Fz (REAEHE)
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